Vin min:= 176V Pout := 3300W Vin max := 264V

Vpfc := 400V

fp := 50Hz f's ;= 133kHz wp := 21 fp mn:= 0.97 Vin nor := 220V
ws := 21t fs Ts:= L Tp:= L L:= 92pH j=~/—1
= = D= 0 = 92p j=+/
Tin maxRMS = —24t  _ 19,337
mn-Vin_min
. Pout .
lin max (t) == —————/2-sin(wp-t)
Mn-Vin_min
Vac_min (t) := +/2-Vin min-sin (wp-t) DminIN (t) := Vpfe - Vac_min (t)
Vpfc
Noe fs 5
M 100Hz N=1.33x 10 n:=0,1.. N—-1
. . . Ts
Vpfe — Vin_min-~/2- s1n[27r (nn+ 1) —J .
Tp dr A b
Dn (nn) :=
Vpfe
Pout . o b0
I1 (nn) := ————/2-sin[2-7-50Hz- (nn + 1) Ts] FELJRS LR
Mn-Vin_min
1| M 2
Irms = [= Z (I1(n)-Dn(n)) At SRS
n=20
Irms = 9. 351A
Idmos maxl (t) := Iin max (t) -/DminIN (1) N2
0.01s
Tdmos max1 (t) 2 4t
N
Trmsl = | =2 — 13.277A RS
0.01s
Tdmos_max2 (t) := Iin max (t) -DminIN (t) N34
0.01s )
. Tdmos max2 (t)“ dt AR5
Irms2 = =9.351A

0.01s
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